
 

 

  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Begin 

Indicator = 1 

Step success 

 

Evaluate predictor 

and corrector 

Indicator = 2 

Step failure 

 

If order for 

constant 

step < 12 

If indicator = 1 

Increase or 

maintain current 

order 

 

Reduce or maintain 

current order 
Halve current 

stepsize 

Double or maintain 

current stepsize 

 

If 𝑇𝑏 < 𝑇𝑒𝑛𝑑 
𝑖𝑓  10−10 < 𝑇𝑂𝐿

𝑇ℎ𝑒𝑛  𝑇𝑂𝐿 = 𝑇𝑂𝐿 ∗ 0.1
 

Exit 

𝑖𝑓  𝐸𝑘
(𝑑−𝑝)

< 𝑇𝑂𝐿 

Calculate 

coefficients 

Data input: 

Declare 

parameters, 

conditions 

If d𝑖𝑠𝑡(𝑇𝑒𝑛𝑑, 𝑇𝑏) > (2 × 𝑏 × ℎ) 

No 

Yes 

Yes 

Yes 

Yes 

No 

No 

No 

No 

Yes No 

Yes 

Increase current 

order by 1 

 


